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CHEMISTRY
( Skill Enhancement Course )
Answer the Questions from any one Option.

. OPTION-A ( Analytical Clinical Biochemistry)
Paper : CHE-SE-4014
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Paper : CHE-SE—4034

OPTION-D
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Time : Two hours
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full marks for the questions.

- Answer either in English or in Assamese.
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OPTION-A
(Analytical Clinical Biochemistry)
Paper : CHE-SE-4014

1 .Arllswer the following qﬁestidns: i 1x4=4
Oolq ePTRY Teq il ¢
(@ What is Glycemic Index?
N2 ikT 52

(b) Name one sulphur contai.ning amino
acid.

BT 45 Gy ﬁﬁa QWWTF\RM

\ - (¢) Which part of our body synthesize and
secrete HDL ?

SIS XSRS ACD! WK HDL JResiael S

fsorel e
(d) What is Hemostasis ?
s R |
2. Answer the following questions in brief :
2x3=6
el SR B bed fudl 3

(@) What are triglycerides? What is the

. alarming level of triglycerides in our
blood ?

Wﬁm@wﬁww F@“iﬂﬁﬁﬂwﬁ—
i@t e 2
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(b)

What is the role of Insulin’ hormone
in our body ? Which part of our body
produces this hormone ?

WSS SIS Bl W’ﬂ’a—ﬁ?ﬂﬁs?ﬁ%’t«
(RICE TieHE 3 ARG TeAT F(I 2

Mention the basic dissimilarities in
structure between DNA and RNA.

3514 ST SR8 T TS 2] 510 CTIeT
AR, S B4

Answer the following questions: (any two)

(a}

(b)

5x2=10 .
o TR T il ¢ (Ricrca 7ot
What do you mean by Epimer ? Is
fructose an epimer of glucose'9 Give
examples of three epimeric pairs of

glucose with their individual structure.
1+1+3=5

o’ {%ﬁﬁ?{@? TEG Aed B
= e gees fof o e T
frdoq STORE S99 (ICe Wife <l | |

What is denaturation of protein ? How
it occur? Explain the factors
responsible for it to cause. EElH3=0

WW@I%??W?@‘?WW
w FEE e
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(c)

(d)

What are nucleosides and nucleot_ides ?
Give an example of each with their
structures. ‘ Pli—5

FefrpiRy wim FefrbRemng &1 drerm
<o Tzl FRes 57 G T 1 |

Name the two fundamental ‘building
blocks’ of lipids. Write their structures.
Give an example of lipids carrying those
building blocks along with its structure.

Mention the seven classes of enzymes
and briefly describe the type of reaction
they catalyse. Give suitable example of
each class. 1+3+6=10

@ 2 GNAEIE (TR T B

fPréed 2o wEen 1 [igarTTe i
P4l | 20O (T AcATE Trizad wife & |

: 2+2+1=5 (b) Discuss in detail about classification
Gile i cxrEreE swid wol (e fafeee of Protein by giving suitable examples
h class.
T W Tl a1 | Bréed oI5 oIk <59 | Rt , ,
12 [le: 7oz 4l @[y FifPie a1 creeeln Yoe Szt e o e e e e
i PSS TR Bite Trigsd wife Al | e Siceb=l 1
Answer any three of the followiﬁg (@  BExplain ‘The icentral - dogma of
questions : : 10x3=30 molecular genetics.”
O Riespieal ol e Tew fral ¢ “wqﬁas@ﬁvqﬁ@m@@ﬂw”%?w
(a) - What is enzyme ? =l |
IS e

(d) What is Glycolysis ? Explain briefly the
various steps involved in glycolysis.
Write down the overall reaction of-

Define the following terms :

Sofq TR A

(i) Isoenzyme (S35 GAZN) glycolysis. 149=-10
(i) Apoenzyme (9o’<ez) 2z siEfeR 2 ot wigees aiee aive [ien
(iii) Holoenzyme (%7 9I1EN) FOR A 1 | R stiafees Afas [
forali |
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(e) Describe how human blood is classified OPTION—B

according to the ABO system. How the i 5 A S
donor-acceptor compatibility is foreen Alethods G e 0/
determined based upon this ‘i Paper.: CHE-SE-4024
classification ? Explain. : :
A |. Answer the following questions : 1x4=4
ABO ~&fe SFEH! WK T4 (©8H fon o Ton T 2 '
FTIE 10 1 | 29 8 fofe o7 coom L .
F191 W% SRR T AP (AL el R Dok
T Z2 T AT 32 o4l w1 e

() Write short notes on : 2sx4=10 emionnigeonomy = . . x 10O

5 (Bl forelt ¢ ' | % oAl Sl = x 100

(b) The full form of CFC is

(i) Structure of protein SR
e . (Fill in the blank)

2o o1t
. | CFC I o> Seet g1 |
(i) HDL and LDL ‘ (9 IR 779 )
CERATCRCE ) RO R (c) Name the starting material used in the '
i) Blood bilicbic green synthesis of paracetamol.
L _cmmwm%@ﬂim%wmw
- feies R i el
iv) Mechanism of :
() sravmne .actlon : (d) Minamata disease was found as
amf?m fam %‘F— poisoning. (Fill in the blank)
feIGt et i @y |
(0Tl 912 959 F0)
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2.

Answer the following questions :

2x3=6

SO AR Ted ) 8

(a) What is called ‘percentage yield’ ? Above

(b)

(c)

Answer any two questions :

which percentage, a particular reaction

is considered to have a good percentage
yield’ ?

W TeAT T [@ItsT ? G o] AR
i *oie" er[e EE bl Fe [iea
e O] BeAW RO [ierai T sl
34 2Je

Define Regioselectivity. Give example.
e rmbieby wker fr | T

What do you mean by green solvents ?

Give example.

cﬂ%wiﬁm%w?wqﬂw -

Sx2=10

o R I B5T Te o

(@

What are the goals of green chemistry ?
Mention the obstacles in pursuit of the
goals in green ehem1stry

(TG FIRAE pE  &r elve e

STRE SR (S U] JATE Grae 41 |
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(b)

(c)

(cl)

Answer any three questions :

Write a note on green synthesis of
ibuprofen with chemical reactions.

QPR e m@ﬁ-m T A
@oqe 5 (R foral |

Mention with example about the ultra-
sound-assisted chemical reaction.

s slceE e TRabe IrERe Rigs
fecar Srme 99 |

Write a note on designing a green

synthesis.

CTOG ARG ma T AEOTROT 8ATS bl
Coist forall |

10x3=30

Rigpizan fofabr es" e 1 8

(a) Write the principles of green chemistry.

3 (Sem- 4/CBCS) CHB SE 1/2/3/4/5/6/G 9

Write suitable examples of any four

principles. 6+4=10
oivs AR SR F4t | R I
Toiriv Toe Trisd [l |
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(b) What are Biomimetic, Combinatorial

(d)

green chemistry and sustainable
development ? How green chemistry can
play a vital role in sustainable
development ? Explain. 2+2+2+4=10

e, fifte EToe MKmRd o 37w

& e wwwrd it el S S e e
Bl
What are pressure-treated wood ? Why

is the use of chromium and arsenic
restricted in this field ? 4+6=10

‘eivis BT 1 B2 SiERe Wiee @R
RN 9 93 oFae WHEy 1 (2w

Write notes on the following important
applications of green chemistry in our
day-to-day life : 3+4+3=10

IS (e SRS (U IR $e B

()

()

Discuss the use of antifoulant in the
field of environmentally safe water
transportation.

W ETros R AR ST 9 |

Wihat |  ofe ¢ microwave: assisted
reactions ? Why microwaves are
considered as a more efficient source
of heating? What are the three
categories of microwave assisted organic
synthesis ? Explain with examples.
T2 b 0404 D10

iz AgTe AT RIE P

TREEeT B @R doRA oo TeA
iy 1 2 2 TGS B FREADS (5 FCA

. T fofin & 7o Tvizgere it <1
9 wRsfd AN (FHR e[ GRA B g
(i) Dry cleaning of clothes
e T2 A e
(i) Versatile Bleaching agent
e @] qres
(iii) Analgesic Drugs
AN 8Ty
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Vi 7 i
[ ' 9
Abliceis G 9Bl o R e SR
' : ; R W 8T ﬁzm*ﬁ sl &
( Pharmaceutical Chemistry)
- fepitst I 53
Paper : CHE-SE-4034
_ A _ (iv) The first compound of a structural
1. Choose the correct option : 1x4=4 class of compounds to r each the
market
w LA Hee B9 ¢ el :
: ; - I (oA Bt SHefer G et el
(@) Which of the following statements best : ;
describes a lead compound ? (b) Which of the following terms is used to
describe a drug that has the same effect
O (! SGTH ST (o :m\gsl\"mq@m , on a receptor as the endogenous
Zﬁﬁf@i? - : L chemical messenger ? :
‘() A compound that contains the wamﬂﬁ%aﬁﬁr@ﬁwﬁwﬁa@ G
element lead . el (ARl STHE NG IRCEE @ICE! *%
A e 2= il A2l Pl 2 2
(i) A compound from the research (i) Agonist
laboratory that is chosen to go e
forward for preclinical and clinical il :
trials : : + (i) Antagonist
ST A9 =1 o1 Bt (ot Bt GBla S
et i T e < o (i) Partial agonist
L , = sl 9o e
(i) A molecule that shows some ! el g
activity or property of interest and (i iy etss aEaRLE
serves as the starting point for the | Feg o e

development of a drug

3 (Sem-4/CBCS) CHE SE 1/2/3/#/5/6/G 13 Contd.
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(¢) Which of the follovﬁng statements best
describes retrosynthesis ? :

OO (FCE SfGE @G AT e aﬂfm
?ﬂ%@?

()

(%)

(i)

The reaction conditions required
to convert the product of a reaction
back to the 0r1gmal startmg
materials

WWW%WW@W@%‘
A strategy used to design a
synthesis of a target molecule by

working back from the target to
simple starting materials

TR o[ HEe ﬁﬁﬁaﬁmﬁﬁ
W@ﬂaﬂmﬁ%%@%aﬁaﬁaw
@RI FE

The design of a synthetic scheme

using cheap, traditional reagents,
rather than expensive modern
reagents

WWWWWW

RIS RS 989 1 o 1 -
e |

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 14

(d)

(iv) The design of reaction conditions

such that an equilibrium reaction
is pushed towards the produc_ts
rather than the starting materials
g SRR GEmE w91 A0S
a1 sl R i AR
i ANTR FE cofe i =

Which enzyme is used to _hydrolysc
starch to maltose to manufacture
ethanol by fermentation ?

B 2R HEe R T e AR TR
mﬁwﬁi@_ﬂﬁﬂ?ﬁ @wm aﬂﬂ@ﬁﬂw
P =2

()

(1)

(iii)

(iv)

J (Sem - 4/CBCS) CHE SE 1/2/3/4/5/6/G 15

' Diastase.:

OIS
Alpha—eimylase
STeTI- AT
Lipase

GBI

Beta-amylase

[EHRURI G

Contd.




. Answer the following questions :
weTe fral emiaies Tl ¢

{a} Define chemothera_peutlc index and

(b)

()

2x3=6

therapeutic index.

LRI 2T S (PSR S o |

geR |

What do you mean by pharmacokinetic
phase and pharmacodynamic phase ?

Jfeitet 5 @il 2 :

Write down the chemical structure of
L-ascorbic acid. Mention its importance

- for human beings.

-ﬂwﬁﬁ@f@amﬂéﬂﬁwww

R ¢FY TEd T4

Answer any two questions from the
following :

oo [Ricica 7h) e Bed i ¢

(@)

() What are NSAIDs? Give an
example. Ei

GramgeEfG 52 ool Tuizae |

() Explain the meaning of the term

‘prodrug’ using an example. 3

TAIEPTE ‘e glel” Shr Wi il |

3 (Sem-4/CBCY) CHE SE 1/2/3/4/5/6/G 16

5x2-104

(b) Write the chemical structure of

(¢

4 (Sem -4 /CHCS) CHE SE 1/2/3/4/5/6/G 17

ibuprofen and identify the chiral centre.
Which isomer of 1buprofen is
found to be active as a drug? Write
the steps involved in the synthesis of
ibuprofen ? I+l H8=56

w&gﬁmwﬁam%@w & e
491 | S (B! TR 8FY f2Biee
A e SizgeE AEEwde wive [iFarmg
T 4 | '

(i) . Name one species each from the
following microorganism class
which is capable of fermenting
sugar to citric acid : , 1.5

Yeast, Fungi and Bacteria

S TG A PRI GBIt defe AW
a1 g *Fa e o« oiEe «be
T TG IS 3

3B, (1 SR @I

(i) Name the three processes adopted
for the commercial production of
citric acid. Gl
piefe «bes Afdfers Beomas A @l?ﬁ
4| fofor s I )
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(iii) Write down two commercial uses
of citric acid ? o

bi2fbe abes 757 Aififeres e e
(d) Write briefly about the production of

chloromycetin- by fermentation. 5
s wlFace g‘s’a’nﬁsﬁ;‘a Tesiives KA 53
fovat |

4. Answer any three questions from the

following : 10x3=-30

R e fofnr et Tes fa g

(@) () What minimum requirements
must an antibiotic fulfill ? Write
the chemical structure of
chloramphenicol ? Identify the
chiral centre(s). What :
m1croorgan1sm produces it ?

2+1+1+1=5

GG 951z & & ey eeaTe!
o34 S A2 AT AT
1A ot | SR (o (hR) e w1 |
& TS 2T Tesly =2

(ii) What are sulfa drugs? Write the
chemical structure of sulfacetamide ?
Write the name of two bacterial
species against which it is active.
Write the reactions involved in the
synthesm of sulfacetamide.

1+1+1+2=5

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/6 18

(b)

()

(1)

el @ 67 PACFIORIZES I
ot i | R D1 R eefos a2
e = ©F AN | FAEHEINIZGS
FRoIEe e Tive Rfepz o

What is HIV ? What is AIDS ? Write
the name and write the chemical
structure of an anti-AIDS drug.
Describe the mode of action of the
drug. 1+1+1+2=5

qzpuisfe e «zuz e @B 9297
eiferai) e TN fifRl O RIS 215
fBrell | €% BT i €89 < 9

What are soporific agents ? Name
two substances which may cause
insomnia. Which drug was referred
to as the king of barbiturates?
Name an antianxiety drug and .
point out its other therapeutic
benefits. [+1+1+2=5

Wﬁmﬁmﬁﬁ?wﬁmﬁ@ﬁﬁw
WBl s A B R T
e S 7o 3 (R el <l Tl
PRI 8929 Ji fo1dl Sl S
Bfesirs ZAR TAPIRTOPRR T I
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(c)

()

(1)

What is a vitamin? Give one
example of each water-soluble and
water-insoluble vitamin. Name the

- different structural components

present in vitamin B12. Write the
name of two bacterial strains used
for industrial production of vitamin
B12 by fermentation. Write the
name of a disease that occurs due
to the deficiency of vitamin B12.

Il bl =1 -1 =5

51 2 oiife wdftvs wie e

wE T fobifme Gl Suised fml)
febifim @y $® 2= [ifew sfiafiore Tomms
A et | e 6 feBifEe Ry s @onifas

AW TR T B (IR Aoy
I3 5720 | FeBifEe &S 31 Srore @[ 9bl
SIo" 5 ot

In the industrial preparation of
ethanol by fermentation—

o w2 ST efoe—

(A) what is the starting material
and what percentage of sugar

does it contain ? Q)
Rz & = 20 R wrois)
4 AT Y

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 20

(B) name two microorganisms
that can earry out the -
fermentation. 1 _

ool <39~ 70/ DGR A B

(C) what is the optimum pH

(d)

(@)

range for the process? 1

AfICH A ST pH e
e 2 |
(D) why is addition of oxygen

necessary although the process
is anaerobic ? 1

SfRFIS! SRR TS SR
el o1 R elaeE 2

Write the structure activity
relationship (SAR) of penicillin

-

analogues. )

EERR R 5 TR T
(92eR) ol |

What is leprosy ? Write the name
and structure of an anti-leprosy

drug and propose a synthesis for it.
: 1+1+3=5

3 (Sem-4(CBCS) CHE SE 1/2/3/4/5/6/G 21 Contd.




(e ()
(W)
h o

T Q@5 B2 T @l oferd G5t STk

T A I T FE O 2w ome
forali |

Write the‘ structure of antiviral
drug acyclovir and outline its mode
of action. 1+4=5

«fbeiEEe @3y ibgTos oo )l o=
Wmﬁwﬁﬂmmwwl

What are benzodiazepines ? What
is 'the trade name of the drug
diazepam ? Propose a synthetic
pathway for drug diazepam.
1+1+3=5

[@TE IR 2 SiErEsN eugs
TIRCSN SR of 2wfe |

Draw the structiire of
cephalosporin C. Name the two
heterocyclic rings present in its
struecture, Mention the steps
involved in the synthesis of
cephalosporin C by fermentation.

Mention one advantage and one

disadvantage of lst generation
cephalosporins over penicillins.
1+1+4+2=8

(i)

GHERT B9 5T T T/ | 2N
S1oe TeifEe o<l Wol (FHA biRET Red
a9 ol B R cEE R B
FLCARCIR TS TGS VTP G 0|
(B ETOE > W AR (GrleT =1 TR ol
ARl o G PP T S|

Draw the structure of vitamin B,.
What is its function ? i 2

TObIRm &, 51w =ik 91 | 209 i [ e

} (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 23 ‘ - Contd.
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OPTION-D (ii) Hydroalcoholic solution includes

( Chemistry of Cosmetics and Perfumes) SPGBl GIEE
Paper : CHE-SE-4044 - (a) nail polish remover
' e @EE AT A
1. Answer the following questions from below : i
: T (b) aftersave

(c) ‘Thair oil
ple (94

(d) bath oil
M-c4il Cos1

() Which of the following chemicals is

used as flavouring agent ?

OO (IO IR cﬁﬁﬁﬂ%aﬂwfiﬁm
qR2E 9 2 ?

(iii) Oil in water emulsions are used in

{a) Acetonyl acetone

o e : (a) hair conditioner
(b} Oxybenzene gﬁ{?ﬁ’f@ %
iét e ' (b) sun screen
(c} Titanium oxide 1 Bl % 19S
(c) diaper rash cream
ool sz

TirgPlE (% FIe
(d) Octrizole () vitamins

e o fopifim o1

o d.
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(itv) Body odour develops as a result of | (i) Write two side éffects of the use of hair
secretion from .. dye.

W@W‘?fﬂmﬁm%wmgﬁ pf&f*wa@ﬁﬁwgﬁmm@mﬂwl

@Enz[‘; : , (lij) Write two differences of talcom powder
: : and face powder.
(@) skin _ . (Wwvnf‘;@aww—wm@@«'ﬂw 7ol
G| : ey ol |
(b) muscle bt | 4. Answer any two questions from the following :
- 5x2=10
Co
‘ wors i enpTEs Rt 7519 Be i ¢
(¢/ apocrine gland i (i) What are the ideal chracteristics of
fi ‘ ointments ? Write one advantage and
s ; AR one disadvantage of ointment. 3+2=5
(d) sweat : EGEERTISITR W@mﬁw@m &ﬁaﬁm
o : SIEREE RSN GRIE :

(ii) What are the main 1ngred1ants of cold
cream ? Write briefly about the

2. Answer the following questions from below : , preparation of cold cream. 2%0-6
ox3-6 & 75 SR 7 SAmenE T Fe T EN
WWWW%m redaed [EcE v Tl
. i , (ilij What is antiperspirant ? How they act ?
(i) Write any four functions of cosmetics. : ' 5
| PTG R BT SR R S s B
‘ ‘ Aol qenie @
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(iv) *"What is suntan lotion ? Mention three
uses of suntan lotion. - 2+3=5

BIFCo 1'% 5 2 27= fofiG1 ag= Soae w1 |
Answer any three questions from the
following : : 10%x3=30
weTS fral e el fofng Tes Bl ¢

()  Explain the term cosmetics. What are

the various categories to classify
cosmetics ? 2+8=10

aﬂfmqﬁm%w?mcwﬁﬁ@wﬁm
BP0 |

() Write two importances of each one of
the following : 2x5=10

o 2SI FOIE ARGl Sl <l 3

(a) Civetone
B

(b) Eucalyptus oil
LOERAAGI5 (os

fel = Rose oil

: IE (w5

(d) Sandalwood oil

 (BLEETOS (Od

(e) Eugenol

BTG

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/G 28

(i)

(iv)

Giive the method of preparation of
shampoo. How can you differentiate
between hair remover and nail polish
remover ? : 5+5=10

(5[4 &S ST ACE o1l | Blet Soiiiss
mwa@vﬁﬁwﬁﬁmnwwﬁ%ﬂ%ﬁm

What are the best sources of geraniol ?

What method is adopted for its

extraction ? Discuss its uses.
2+2+2=6

feraifierem Sege erpfos Tomhl e 2
wizes A & 75 mle oReTE S = W
qaaE s Bl ‘

Write the two cosmetic uses of each
- 2+2=4

(@) Oil in water emulsion
(b) Water in oil emulsion
(a) #Ie (oo =

(h) (w57 A, &2 751 BT T A
arau foral |- :

A (Moo 0 JCHCH) CHE 81 1/2/3/4/5/6/6 29 . . Gontd.




(v) Write in short about the following o OPTION-E

5+o=10 3 ( Pesticide Chemistry)
oo S el [{EEE eHTe B %_NT s : Paper : CHE-SE-4054 |

(@) Cosmetic' safety ' _ |,  Answer the following questions : kg4
el el wete Al eiciRs Tew i ¢

(0 Advan‘tages/contr'1but10ns _Of' ' (@) Write the name of a plant which is used
colouring agents in cosmetics e 1nsect1c1de
preparation i
AL LEOFINS qmw G W SSIEREd iiﬁm quﬂﬁﬂ@ﬁ@@mw .
AR/ | () What is the trade name of Benzene

(vi) (a) Write briefly about the actions of Hegaenlonde (BUCH

cold cream, vanishing cream and (@S (SE AT (BHC)WW%?
shaving cream. : 2x3=6 ; :
: (c) Define the term Rodenticide.
T G, (SR TN W (2] F e ' i
N FTIE B 1| | b EEE
(b) Write briefly about hair waving and (d) What is Bordeaux mixture ?
hair straightening agents. 4 3 69 folee &5 9
pf& Bt o pfet @fe: sfeater 929 :
@R TERs [aw ) 2. Answer the following questions : 2x3=6

wore fra 2lTes Oed i ¢

() What is a bio-pesticide ? Give an
example. '

SE-H o 2 9B T Ml
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(b) To which chemical class of insecticides
does DDT belong ? Name another
insecticide that belongs to that same
class.

&5 R AT (T TR e ?
P18 (P (MTH SIB5(S O GB] SO i
o1l |

{c) Draw the structure and IUPAC name of
alachlor. :

GEI ST SO SR L S 2F N3 26 5 @
5 =i forai |

* Answer the followirig questions : {any two}
; ; : 5x2=10

woTe [l 2pTes ©es WAl ¢ (R 7o)

(@) Write a short note on Malathion.

TeifEe eoiw® «fb 53 (ORRl &l |

(b) Write down the chemical structure of
gammaxene. It is also known as HCH,
elaborate on this acronym. Mention two

-uses of it. : e 1ED =5

AR SRR 5157 vl | 28 HCH qfers

(IR T, 93 R FoAhIN @i emeicd forli |
39 75! 929 Somd 79 |
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(¢) Draw the chemical structure of
butachlor. To which chemical class
does this insecticide belong ? Briefly
describe the chemical synthesis of
butachlor. | il e )

Al TPIAET 0w S 1 | B A
(Bl AR (2T =Eefs 2 01 T IS
ALCEEeE e S el o |

(l) What are natural and synthetic
pesticides ? Give examples of each class.
Mention two advantages of natural

pesticides over synthetic pesticides.
2+1+2=5

digfons s Fham Foame K2 2! @TiE
(bieen Briigel T | P FHARTED AFOF
PGsiag 757 e Srevd 901

Annwer the following questions : (any three)

; 10X3#30
W i et e et ¢ (e fofeor)
(i) Cive an example of Quinone pesticide.

Draw its structure and mention IUPAC
name, Discuss briefly the synthesis,
properties and uses of it. 1+2+7=10

(B A/CHON) CHB BE 1/2/3/4/5/6/0 33 : Contd.‘




ﬁﬂﬂﬁm@aﬁ@‘m@ﬁm&mﬁww |
<91 OIS [UPAC AN Srad 391 | 339 2iefs, &

(iii) What are agricultural pesticides ?
Mention the name and uses of two
2+4=6

e <RI R ST e - agricultural pesticides.

(b) Discuss the merits and demerlts of | ".Ifﬁ Y \5. m 52 701 SfrwTe
pesticides. _ BT T i e IeEis o |
SO @ O (VIR SICEIo <51 | (/) (1) Whatarecarbamates? Propose one

(c)  Discuss briefly the synthesis, uses and' - method of synthesis for both

harmful effects of DDT.

carbofuran and carbaryl. Mention
two major disadvantages of these

_ 1S & (53 e, AR21E SIS FHfosies Aol KA carbamate insecticides. 1+4+2=7
WWWE | P EE &2 zﬁﬁjﬁé M o S
() Writt_e_;rifzgy i tht?l Ciassiiicatio? 0;' qralbica I gefes «Bits AwfeT Raw

pesticides (based on the target organism) = = =
citing suitable examples of each class. fo IQF; 2{?2@'&] g ﬁf e

: : R |

AR ol i Briaset 7 B :

NEois Fac (775 G 9siFe fofe ) (i) Discuss the symptoms observed on

(e

B0 T2l |

(i) Whatis Folidol ? Draw its chemical

structure. ) : 2

% ToTee {3 2 B8 AR 910w oIse 4 |

(i) Outline two major distinctive
features of organophosphates from

other inse(_:ticide classes. 2
S AT (T 2191 ST FRE6S
701 2l TR (AR RacE fevdl |

carbofuran poisoning. el sk

i e Fraferae e ordl ral TR

(1263 WICeGa <5< |
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OPTION-F

( Fuel Chemistry)
Paper : CHE-SE-4064

1. Answer the folloﬁving questions : 1x4=4 .

OeT il 2N B el ¢
(@) What is the composition of water gas ?
e (sles ARG Hgfe Fa |
(b) Write the percentage compositions of
gases present in CNG.
~ CNG S 240l (oI *Tepei Azgfe feralt |
(c) - What is the advantage of alcohol-
: blended petrol ? :
GETF Z fifEe (Age ARt e
(d) Name one solid lubricant.

@51 ¢l foAfoeesiass i foren |

2. Answer the following : - 2%3=6
weTe AR e Bial ¢ '

{a) What do yo_u mean by non-renewable

. Energy ?
e Sy e e & gee
(b) What is coal-liquifaction ?

AT O] &2

() What are the disadvantages of uses of

CNG? .
CNG @R SHRANER &l |
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4. Answer any two of the following questions :

5x2=10

wne WlearEa facprear !ﬂ?‘f 2psd Teq foTall 8

(t1)

(b)

fi”

What do you mean by lubricants ? How
lubricants are classified? Give
exnmples of each class. 1+8+1=9
(Wi 9fe & 3 PTEeRIEES
e weslial (arz? eToIRTE oI Suizad

fat | :

What is Naphtha ? Write the products
oblnined when Naphthas are allowed
(o undergo steam pyrolysis?  1+4=5
el s e TR ]SSBT
Geslrl caral Awiefeas B

What are the compositions of producer
gnn P Between producer gas and water
pis which one has more calorific value ?
Why is producer gas used immediately
alter its production ? What are the
advantages of natural gas? :

I+ Fl1+0=5
wluln (o efs foren | SR (o i
L LA L i aU (BICEIE &R A Gﬂ%{?
WL (ol Besi R el w2 6
Sele i micst e elpfes (ol ARe B e

Wilte the petroleum fractions of the
products obtained during refining of
crude petroleum, Also write their boiling
panpes and uses of each fraction.

3+2=5 .

R T e Contd.




SRR (o5ee Rerafes eTe Sesty (2
RIRIGIERERIN éﬂmﬁmaﬁmﬁﬁ%ﬁiﬂﬁ#ﬁiﬁﬂr

92 ATOFE GIHIOE IR FRAt |

4. Answer any three of the following
questions : ; 10x3=30"
wete Al fgmie o) e Tes &2l ¢

(a) What do you mean by coal gasification 2
; Write the flowchart of coal gasification.
process. What are the advantages and
disadvantages of coal gasification ?
_ - 2+4+2+2=10
TE (SRR S 5 2 PR (R smif|
fogq alTe i3 foril | TN (R RTIeR AR
Il SRR

(b) What is cracking of petroleum ? Write

the products of thermal decomposition

- of n-Butane. Draw the flowchart of
Fixed bed catalytic cracking. What are
the advantages of catalytic cracking?

' ' 2+2+4+2=10

CAGRTINR (R I & 9o 2 ke [Swa
i [Sz01S TFoTe B (Rl oM feyall|
-1 SRb R Rekeims 2misl foa 3ei vt |
TGS [eres JRAEE e |
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(il)

What are the functions and
characteristics of lubricants ? What is
viscosity index and what does it
indicate ? What are additives in
lubricants ? Name some additives to
improve the lubrication in oils.

: 3+3+2+2=10
(lbaeeplaaales o oTe eelieds REea Bl
[fieiang Awsl pe T O T B How
el ¢ (o fDeeresias @0 JoI9E AR Ml (QEHEIE
[ ¢ (EBRIH GrEEeR IS G|

What do you mean by renewable and
non-renewable energy sources ? Write
nbout solar energy, advantages of using
solar energy and - also write -
disndvantages of it. What is geothermal

energy ¢ 4+4+4+2=10

el e SEEeaey <ife gl
qu 0 T e B e e e R

gull wpyfuicar fa | geeTa wfe it fee

What is biogas ? Write the compositions
of blogns, What is biomethanation?
Write on bilodiesel and transesteri-
Hontlon reaction as well as flowchart

il blodiesel |nui|llt‘|il!n.

Q2 1+2+1+2=10
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A [ 2 AR AR FfS ’r??wamﬁw
e awfreem R ol (EnasiEResE
e el w2 A reeT esim 2= fou
S 4 |

" {f) (i) Define octane, numbetSoisa fuel.

How a vehicle select a good quality
fuel for use. 2

S W 2 G2 A2 A T TF
EE N FED bl 2
(i) What are the basic compositions

of crude o0il ? Mention the basic
principle behind its refining

process. 2
- TR (oS Yeres ﬁsﬁliﬁ?éﬁﬁ—c’f
AR TN T ©F S |

(iii) How are cloud point and power
- point of a lubricant measured ?
2+2=4

TPeTslae 2vi<E T [ o 2Rig) T
I GG ool el g3

(iv): Write your short comments on
‘fatutreof renewable energy in

° India’. 2

‘SIS AT AT X(E L SRS
TS (ONE 5 Toie | :
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